Forme Développée (H)

Réécrivez chaque nombre ci-dessous en forme développée.
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Forme Développée (H) Solutions

Réécrivez chaque nombre ci-dessous en forme développée.

9071488

9000 000 4-0+ 70000+ 1 000 +-400 + 80+ 8
?Ox+1800q000+0 x 100 000 +7 x 10 000 + 1 x 1 000 + 4 x 100 + 8 x
X

Ox10°+0x10°4+7x10*+1x1034+4x102+8x 10! +8 x 10°

4717 846

4 000 000 4- 700 000 + 10 000 + 7 000 4- 800 +40 + 6
éllox 1600()1000+7 x 100 000 + 1 x 10 000 +7 x 1 000 + 8 x 100 + 4 x
+0 X

Ax1004+7x1094+1x10*+7x10°3+8x 102 +4x 10! +6 x 10°

4526 369

4 000 000 4- 500 000 + 20 000 + 6 000 +4- 300 + 60 + 9
4110><+1900(i()00+5 x 100 000 42 x 10 000 + 6 x 1 000 + 3 x 100 + 6 x
X

4x10°+5x1094+2%x10*+6x103+3x102+6x 101 +9 x 10°

2353975

2 000 000 + 300 000 4- 50 000 + 3 000 + 900 + 70 4-5
%OX 150001000—|—3 x 100 000 45 x 10 000 + 3 x 1 000 +9 x 100 + 7 x
+J X

2x 10043 %x10°4+5%x10*+3x10°+9x 102+7 x 10" +5 x 10°

7126932

7000 000 + 100 000 4- 20 000 + 6 000 + 900 + 30 4-2
zOX 120001000—1—1 x 100 000 42 x 10 000+ 6 x 1 000 +9 x 100 + 3 x
+2 X

Tx1004+1x10°4+2%x10*+6x 10°+9x 102 +3 x 10" +2 x 10

7347994

7000 000 + 300 000 4-40 000 + 7 000 ++ 900 + 90 4- 4
zOX 1400()1000+3 x 100 000 +4 x 10 000 +7 x 1 000 +9 x 100 + 9 x
+4 X

Tx1004+3x10°4+4x10*+7x10°+9x 102+9 x 10" +4 x 10°

MathsLibres.com




